CALCUL MENTAL 1

nom note
1+1,1= 5x04=
1,04+15 = 0,25 x 5 =
2,1+19 = 3x0,6=
254+27= 2,1 x4 =
34+ 17= 2x15=
25—-18 = 0,45 x 10 =
3,0—29 = 6,02 = 100 =
1,9-0,8 = 1,2 x 0,1 =
44 —-25 = 2,5 +10 =
45—-19 = 19,2 +0,1 =

CALCUL MENTAL 1

nom note
1+13= 5x0,3=
1,34+14 = 0,25 x 4 =
2,1+1,7= 4x0,6 =
27+24= 22x3=
34+16= 2x24=
25—-17= 0,45 x 100 =
44—-29 = 5,12 +10 =
1,9-0,7= 42 x0,1 =
34—-21= 2,7+10 =
42 —-28 = 13,5+0,1 =




CALCUL MENTAL 1

nom note

1+15= 5 x 0,25 =
1.,1+1,1= 02 x4 =
3,1+19 = 7x0,2=
24424 = 35 x2=
3,0+1,6= 3x14=
3,0—16= 1,05 x 10 =

3,1 —-24= 2,2+10 =

1,8 =0,8 = 15,3 x 0,01 =
41—-24 = 1,6 +10 =
48—-19 = 4,2+0,1=

CALCUL MENTAL 1
nom note

1+21= 4 x 0,25 =
14414 = 0,4 x6 =
25+15= 2x0,2=

2,6 +27= 15 x4 =
34+19= 2x19=
32—-18= 1,45 x 10 =

3,6 -19 = 1,25 + 100 =
1,9-0,5= 10,5 x 0,1 =

44 —-21 = 0,25 <100 =
45—-13 = 1,93 +0,1 =




